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Answer : A

In the following question, the given sentence has four parts marked P, Q, R and S. Choose the part of sentence with the error and
mark as your answer. If there is no error, mark "No error (S)' as your answer. Do you see (P)/ the bird's nest (Q)/ over their? (R)/ No
error (S)

A). P B). Q
C). R D). S
Answer : C

In the following question, the given sentence has four parts marked P, Q, R and S. Choose the part of sentence with the error and
mark as your answer. If there is no error, mark 'No error (S)' as your answer. The one whom wins (P)/the lottery will become (Q)/ a
millionaire. (R)/ No error (S)

A). P B). Q
C). R D). S

Answer : A
Fill in the blank with the most appropriate word which will suit the context of the sentence. Nobody was able to the crying
baby.
A). Pacify B). Temper
C). Restrain D). Settle

Answer : A
Fill in the blank with the most appropriate word which will suit the context of the sentence. Santhosh was always to his

father's wishes because he respected his father.
A). Obedient B). Contrary
C). Resistive D). Disobedient

Answer : A
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Choose from the four options, the word that best substitutes the given phrase. "To remove all objectionable matter"

A). Expurgate B). Extempore
C). Extrapolate D). Epicure
Answer : A
Choose from the four options, the word that best substitutes the given phrase. "Living in a country that is not your own"
A). Extradite B). Expatriate
C). Repatriate D). Indigenous
Answer : B

The following sentence is divided into four parts (P, Q, R and S). Rearrange it in the proper sequence in order to make a meaningful
sentence. (P) Study of the structures (Q) The bodies of living things (R) Anatomy is the (S) That make up

A). RPSQ B). SPQR
C). QRSP D). PSRQ
Answer : A

The following sentence is divided into four parts (P, Q, R and S). Rearrange it in the proper sequence in order to make a meaningful
sentence. (P) Missing from (Q) A crate of (R) A stall this morning (S) Apples was

A). SPRQ B). QSPR
C). PRSQ D). RSPQ

Answer : B
Rewrite the sentence in active voice. The damaged roads are being repaired by the workers.
A). The workers are repairing the damaged roads B). The workers were repairing the damaged roads
C). The workers have been repairing the damaged roads D). The workers had been repairing the damaged roads

Answer : A
Rewrite the sentence in passive voice. My father bought a car.
A). A car was buyed by my father B). A car is bought by my father
C). A car was bought by my father D). A car has been bought my father
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